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A
y0)=-1 y'cosx+ysinx+ sin[y|l/2 sin x — 2 sin x = 0 v n>»ya S mnonw a2 ('P1 18) .
MR oy M oY 0< x<m/2 WRY 1-2cosx<y<3—4cosx MWK DR DOPN
P17 2 -m/2 < x<0wRd AP A :(P17) 0ma . M
2017 1nxyh My aow neya arx ('P17) .2
(u'sinx) +u=0 u"+u' +u=0 (u'cosx) +usinx =0
u(0)=0,u'(1)=0 “lu(0) =0,u'(1) +u(l)=0 | w(0)=0,u(1)=0
2
IRNWAT DY NN R N7 (00 9912) nnro Mgl oa (P 15) X
(x? —3x+2)sinmx y"+%n(x—1)y'— ny =0
, lim (x=D7V2p(x)=1 pn» %27p% wex X1 oNmA o arx (1 10) A
x—>1+0
AR Aax, lm (x=Dy(x)=1, lim (x=1)?p(x)=1, lim (x=1)""3px)=1
x—>1+0 x—>1+0 x—>1+0
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Y2 HW NPNYYT NPERPNDT 207 MW NN VHnRMD PN w1 1M o e R YW Twn nR Xt (P 15) X
u"+u=x—-mn/2+acosx
, TOW NMYAY ORNNT XD — 0w
u'(0)=0,u(n/2)=0
.MIN9T D2 DR XIXND 2mnns Sw vona n (‘P 10) .2
4
X=y
JMX DR PITAN NIRRT 2w NPYNPT MTIPIT DR X2 (‘P113) X
y=sin(x+y)
X=-3x+y-2 X=3x-2
nR 7Y, ) Y , 3 Y moawnn 2w 0»1on 22Ipr T PR RS (Pr12) .2
y=-5x+y y=2x-2y+2

DPUPA MR

707 12 KW 2 27D PHR 00101 D°OTO DONMPR 2OW DN DX KIXNT .5

i=x-3y+E()
{)'/ =2x—-4y ’ 1E(H) <£0.1
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